Vi Position:
{in m) x=887Tm {horizontal)

y=0.00m {vertical)

Horizontal distance: 8.87Tm
Maximum height: 1.86 m
Time: 123s

X
(in m)

y Components of velocity:
{in m) Vy =7.20 m/s (horizontal)

vy =_6.04 mis (vertical)
Magnitude of velocity:
6+ 9.40 mis
Angle: -40.0°
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y Components of velocity: ¥ Components of velocity:
{in m) vy =7.20mis (horizontal) {in m} vy =7.20m/s (horizontal)
vy =3.01 mis (vertical) v). =_3.77T m/s (vertical)
Magnitude of velocity: Magnitude of velocity:
6 7.80 m/s 61 8.13 mfs
Angle: 22.7° Angle: -27.6°
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